1. Who is ahead after 5, 10 and 15 time steps? By how much? 

After every iteration the tortoise is ahead by the percent of his previous lead times the distance between the rabbit and the finish line. So after 5 steps the tortoise was ahead by 3.125 miles, after 10 steps the tortoise was ahead by .09765875 miles and after 10 steps he was ahead by .0030517578125 miles. These numbers only correspond with a 50% head start however.

2. Who is running faster? Calculate the average speed of the tortoise and the hare during each of the first four stages. Remember that the average speed can be measured as change in distance divided by change in time. What is happening to the speed of the tortoise and the speed of the hare as the race progresses? 

     The hare is running faster. I know this because the “gap” between the tortoise and the hare was getting increasingly smaller. When the tortoise is given a 50% head start his average speed is approximately 114.323 miles per iteration and the hare’s average speed is about 35.026 miles per iteration. As the race progresses, the speed of both of the animals seems to decrease as the distance covered in each step decreases with the distance between the two animals.

3. Will the tortoise or the hare ever win?
With the rules provided and the information observed, which only allow the hare to move in proportion to the tortoise and the tortoise to move half the distance between him and the finish line, neither the tortoise nor the hare would ever win because the distance they are from each other and the finish won’t change, as a proportion.

�good!!





